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# jstack <process id of Java process>
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# find / -iname jstack
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# ps -C java -L -o pcpu,cpu,nice,state,cputime,pid,tid | sort

FhE

# ps -C
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0.4 - 0 S 00:25:02 28174 28641
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# ed /usr/java/jdkl.7.0_10/bin/

# jstack <process ID>
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2015-02-04 21:12:21
Full thread dunp Java Hot Spot(TM 64-Bit Server VM (23.7-b01 m xed node):

"Attach Listener" daenon prio=10 ti d=0x000000000f b42000 ni d=0xc8f waiting on
condi ti on [ 0x0000000000000000]
java.l ang. Thread. St at e: RUNNABLE

"ActiveMQ Broker Service[l ocal host] Task-4669" daenon prio=10 ti d=0x00002aaab41f b800
ni d=0xb24 waiting on condition [ 0x000000004c9ac000]

java.lang. Thread. State: TIMED_WAI TI NG ( par ki ng)

at sun. m sc. Unsaf e. park(Native Mt hod)

- parking to wait for <0x00000000c2c07298>

(a java.util.concurrent. SynchronousQueue$Tr ansf er St ack)

at java.util.concurrent.| ocks. LockSupport. parkNanos(LockSupport.java: 226)

at java.util.concurrent. SynchronousQueue$Tr ansf er St ack. awai t Ful fi |
(SynchronousQueue. j ava: 460)

at java.util.concurrent. SynchronousQueue$Tr ansfer St ack. transfer
(SynchronousQueue. j ava: 359)

at java.util.concurrent. SynchronousQueue. pol | (SynchronousQueue. j ava: 942)

at java.util.concurrent. ThreadPool Execut or. get Task( Thr eadPool Execut or. j ava: 1068)
at java.util.concurrent. ThreadPool Execut or. runWr ker ( Thr eadPool Execut or. j ava: 1130)
at java.util.concurrent. ThreadPool Execut or $Wor ker . r un( Thr eadPool Execut or . j ava: 615)
at java.lang. Thread. run(Thread.java: 722)



"ActiveM) Broker Service[l ocal host] Task-4668" daenon prio=10 ti d=0x00002aaab4b55800
ni d=0xa0f waiting on condition [ 0x0000000043a1d000]

java.l ang. Thread. State: TIMED WAI TI NG ( par ki ng)

at sun. m sc. Unsaf e. par k(Nati ve Met hod)

- parking to wait for <0x00000000c2c07298>

(a java.util.concurrent. SynchronousQueue$Tr ansf er St ack)

at java.util.concurrent.|ocks. LockSupport. parkNanos(LockSupport.java: 226)

at java.util.concurrent. SynchronousQueue$Tr ansfer St ack. awai t Ful fi |
(SynchronousQueue. j ava: 460)

at java.util.concurrent. SynchronousQueue$Tr ansf er St ack. transfer
(SynchronousQueue. j ava: 359)

at java.util.concurrent.SynchronousQueue. pol | (Synchr onousQueue. j ava: 942)

at java.util.concurrent. ThreadPool Execut or. get Task( Thr eadPool Execut or. j ava: 1068)
at java.util.concurrent. ThreadPool Execut or. runWr ker ( Thr eadPool Execut or. j ava: 1130)
at java.util.concurrent. ThreadPool Execut or $Wor ker . run( Thr eadPool Execut or . j ava: 615)
at java.l ang. Thread. run(Thread. j ava: 722)

<sni p>

"pool -84-thread-1" prio=10 ti d=0x00002aaac45d8000 nid=0x78c3 runnabl e

[ 0Xx000000004c1a4000]

java.l ang. Thread. St at e: RUNNABLE

at sun.nio.ch.1QUtil.drain(Native Method)

at sun.nio.ch. EPol | Sel ectorl npl . doSel ect (EPol | Sel ector| npl . java: 92)

- |l ocked <0x00000000c53717d0> (a java.l ang. Ovj ect)

at sun.nio.ch. Sel ectorl npl.|ockAndDoSel ect (Sel ector | npl.java: 87)

- |l ocked <0x00000000c53717c0> (a sun.nio.ch. Uil $2)

- |l ocked <0x00000000c53717b0> (a java.util.Collections$Unnodi fi abl eSet)

- l ocked <0x00000000c5371590> (a sun. nio. ch. EPol | Sel ectorl npl)

at sun.nio.ch. Sel ectorl npl.sel ect(Selectorlnpl.java: 98)

at zng. Signal er. wait_event ( Si gnal er. java: 135)

at zng. Mai | box. recv(Mai | box. j ava: 104)

at zng. Socket Base. process_comrands( Socket Base. j ava: 793)

at zng. Socket Base. send( Socket Base. j ava: 635)

at org.zerong. ZM@BSocket . send(ZMQ j ava: 1205)

at org.zerong. ZM@BSocket . send(ZMQ. j ava: 1196)

at com broadhop. utilities.znyg. concurrent. MessageSender. run( MessageSender. j ava: 146)
at java.util.concurrent. Execut or s$Runnabl eAdapt er. cal | (Executors. java: 471)

at java.util.concurrent. FutureTask$Sync. i nner Run( Fut ureTask. j ava: 334)

at java.util.concurrent. FutureTask. run(FutureTask.java: 166)

at java.util.concurrent. ThreadPool Execut or. runWr ker ( Thr eadPool Execut or. j ava: 1145)
at java.util.concurrent. ThreadPool Execut or $Wor ker . run( Thr eadPool Execut or . j ava: 615)
at java.l ang. Thread. run(Thread. j ava: 722)
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JavaZ7 Ot AN IXNTDALY RERDFBENTEET,

¥ BEBATE., ALY ROREICEFIDIMLERFEHYFEFR-A, BOORANELT,
Runnable, Blocked, Timed_Waiting, WaitingZZEN AL v ROREAERENTVET,
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T7F¥LET, CPUERERNEEICRSE., CPUBERROBBEOREEZ ALY REEE
TEEEA,

CPSOTVEF Y TF v IRMUENHYET, /\A'Ivar/llog/broadhop'® "PCRFclient011 VMA* 5
OCPSOVDUARNZERICRARLET,

- REIVDY
- consolidated-gns
F /=, PCRFclient01 VMASKXDAV )7 NEOIX ROBEHZEREBLET,

. # diagnostics.sh ( COAV U7 KME. QNS 5.1QNS 5.2 ENHW/N—2 3 > OCPSTR
ETETNBVBEENFHYUET ),

- #df-kh

- #top
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